Faculty and Student FTE -- Department Summary -- 2007-08

This report includes only contracted faculty positions (F1, F2 and F4) who had records in SIRASGN for Fall term 2007 (i.e., they were instructors assigned to fall '07 course sections). Annual appointment percents for faculty (i.e., Faculty "FTE") were derived on 10/31/07. Please note that appointment percents for faculty can vary across terms -- and within terms -- as faculty assignments change during a year.

Summary of Orgs by department that were used in the report:

Finance Org	HR Dept #	Dept. Description
505120	505	Academic Learning Skills
507001	507	English as a Second Language & IESL
507040		
507050		
507600		
506105	506	Adult Basic & Secondary Ed.
506110		
506120		
506140		
506180		
506190		
506600		
611200	611	Advanced Technology
611300		
611400		
611500		
611600		
611705		
611900		
612100		
612205		
614100		
613001	613	Flight Technology
621200	621	Art & Applied Design
621301		
621305		
621310		
621315		
621335		
621351		
621355		
621400		
621700		
621800		

631001	631	Business
631003		
631004		
631100		
631200		
631400		
631500		
631600	400	Positional Position and Contra
480020	480	Business Development Center
641001	641	Computer Information Technology
641310		
641400		
510200	510	Cooperative Education
510405		
510500		
430100	430	Cottage Grove Credit Total
515100	515	Counseling and Advising Human Development
452100	452	Culinary Arts & Hospitality
661100	661	Health Professions
661200		
661300		
661350		
661500		
661700		
661800		
661900		
440100	440	Florence Credit Total
671100	671	Health & PE
671201		
671205		
671240		
651111	651	Language, Literature & Communication
651211	00.	zangaago, zhorataro a communication
651221		
651241		
651311		
525001	525	Library
-		Math
681001 622050	681	Music, Dance & Theatre Arts
	622	music, Dance a Theatre Arts
622150		
622280	604	Colones (evaluation Fragge Management)
691110	691	Science (excluding Energy Management)
691120		
691200		
691500		
691600		
692200	692	Energy Management
	691	Science Total (including Energy Management)

710100	710	Social Science
710200		
710300		
710400		
710500		
710600		
710700		
710800		
710900		
711000		
711100		
711300		
711400		
711500		
711900		
550100	550	Women's Program (Transitions to Success)
550200		

Faculty and Student FTE

Department Summary -- 2007-08

College Now Student FTE excluded from Student FTE; Co-op FTE included in host department

Department # (HR db)	Department	Student FTE 2007-08	Sum of Faculty Appointment Percents for the Dept. ("FTE") (calculated 10/31/07)	Ratio of {Student FTE} / {Faculty Appointment Percent}
505	Academic Learning Skills	246.0	15.9	15.4
507	English as a Second Language & IESL	291.5	10.7	27.3
506	Adult Basic & Secondary Ed.	540.2	17.5	30.9
611	Advanced Technology	495.4	18.5	26.8
613	Flight Technology	72.4	3.2	22.7
621	Art & Applied Design	519.9	18.8	27.7
631	Business	388.5	11.9	32.8
480	Business Development Center	335.3	1.0	335.3
546	Child and Family Education	80.9	2.7	30.0
641	Computer Information Technology	398.3	9.9	40.4
510	Cooperative Education	226.6	10.3	22.0
430	Cottage Grove Credit Total	48.3	3.6 4.3	
515	Counseling and Advising Human Development Total	127.6		
452	Culinary Arts & Hospitality	164.3	4.5	36.8
661	Health Professions	639.7	25.1	25.5
440	Florence Credit Total	52.9	2.6	20.8
671	Health & PE	694.1	16.0	43.4
651	Language, Literature & Communication	952.7	50.6	18.8
525	Library	6.0	1.0	6.0
681	Math	862.6	25.0	34.5
622	Music, Dance & Theatre Arts	301.8	13.9	21.7
691	Science (excluding Energy Management)	852.8	29.2	29.2
692	Energy Management	53.8	2.8	19.0
691	Science Total (including Energy Management)	906.6	32.0	28.3
710	Social Science	938.4	27.6	34.0
550	Women's Program (Transitions to Success)	43.3	2.1	20.2
	Lane Total	9,333.1	328.5	28.4